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QUESTION 1

An IBM Security Access Manager V9.0 deployment professional needs to create the HTTP-Tag-Value attribute to pass
values to a backend server as headers. 

How can this be done? 

A. By creating an HTTP rule which is attached to the ACL 

B. By creating an AuthzRule which pulls the header from the ADI 

C. By creating an extended attribute on a POP protecting the junction 

D. By creating an extended attribute on the junction protected object 

Correct Answer: A 

 

QUESTION 2

A system is configured with two IBM Security Access Manager (ISAM) V9.0 reverse proxy servers behind a load
balancer, and it is planned to use forms-based user authentication. It is a requirement that if a reverse proxy were to fail,
users that were already logged in would not be required to log in again. 

Which two configurations can the deployment professional use to achieve this? (Choose two.) 

A. Configure the system to use LTPA cookies 

B. Configure the system to use session cookies 

C. Configure the system to use failover cookies 

D. Configure the system to use the global signon (GSO) cache 

E. Configure the system to use the Distributed Session Cache (DSC) 

Correct Answer: BE 

 

QUESTION 3

The appliance dashboard Reverse Proxy Health widget indicates a problem with the /snoop junction on the Test
instance. 

Which log file can be examined to find product errors? 

A. agent.log 

B. referer.log 

C. request.log 

D. msg_webseald-test.log 
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Correct Answer: C 

 

QUESTION 4

An older, software based deployment has several active Policy Servers set up behind a load-balancer. 

An IBM Security Access Manager V9.0 appliance cluster supports how many active Policy Servers? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: A 

Reference: http://www.redbooks.ibm.com/redpapers/pdfs/redp5256.pdf 

 

QUESTION 5

A company is using the embedded LDAP server to store IBM Security Access Manager V9.0 user data. However, there
is a requirement to create another suffix to hold a set of user data. 

Which two suffix elements are supported when creating a top level entry for the suffix? (Choose two.) 

A. c 

B. l 

C. dn 

D. st 

E. cn 

Correct Answer: AB 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg27043085andaid=10 (35) 
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